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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.07 76.15 | #hs | 0o0o ~ 607)1.76 9.45 Zzh s 1.00 | 5.00 ~ 6.96 76.15 | =nS | 600 ~ 6.96 | 1.76 9.45
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 6.03 76.63 | EnS | 000 ~ 603 1.89 10.11 ZzhLs 1.00 | 5.00 ~ 7.20 75.63 | EnLS | .00 ~ 720 | 1.89 10.11
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 423 52.82 | #hst | 0oo ~ 425|224 11.98 ZzhnLst 1.00 | 5.00 ~ 6.50 52.82 | #hst | 65.00 ~ 650|224 11.98
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 5.10 63.60 | LS 000 ~ 000|167 8.93 ZzhLs 1.00 | 5.00 ~ b6.560 63.60 | =N | 6,00 ~ 5560 | 1.67 8.93
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 4.77 59.46 | =nhst | 0oo ~ 000|170 912 ZzhLs 1.00 | 5.00 ~ 56.00 59.46 | =N | 5,00 ~ 5.00|1.70 912
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZzhnLst 1.00 | 0.00 ~ 4.69 58,45 | LS | 000 ~ 469 1.83 9.79 Zzhn st 1.00 | 5.00 ~ 56.00 5845 | =S | 5.00 ~ 5.00 )| 1.83 9.79
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.18 5225 | =S | 000 ~ 418|203 10.84 ZzhLs 1.00 | 5.00 ~ 56.00 52.25 | =N | 5.00 ~ 5.00|2.03 10.84
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.67 5819 | N | 000 ~ 4.67| 1.84 9.86 ZzhLs 1.00 | 5.00 ~ 56.00 5819 | #hst | 5.00 ~ 56.00 | 1.84 9.86
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhs ~ zh st ~ zhst ~ zh st ~




